L
#include<iostream>
#include<cstdio>

using namespace std;

int main()

{

freopen("pa.in","r",stdin);
freopen("pa.out","w" stdout);
return 0;

}
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Sort:

Casel: RFEZE [ ZTcompare pf#

#include<iostream>
#include<algorithm>
using namespace std;

int main()

{

int q[]={2,1,4,3,5};
sort(q,q+5);

}

Queue:

#include<iostream>
#include<queue>
using namespace std;
int main()

{

int t;

queue<int>PG; /54
PG.push(123);
PG.push(456);

cout <<PG.front() <<endl; // queuepijliz T2

PG.pop(); //#&Rqueuenilit 2%

2.fstream
#include<iostream>
#include<fstream>
using namespace std;
int main()

{

int q;

ofstream fout;
fout.open("test.txt");
fout<<123<<endl;
fout.close();

ifstream fin;
fin.open("test.txt");
fin>>q;
cout<<q<<endl;
fin.close();

}
R
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Case2: FE3H [ ZTcompare R #i

#include<iostream>
#include<algorithm>
using namespace std;
struct PG

{

PGO{};

PG(int a,string b) : num(a),id(b){}
int num;

string id;

1

bool cp(PGa,PGb)

{

if(a.num=="b.num)

return a.id <b.id;

else return a.num>b.num;

PG miko[5];
LT Mz A data
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Has i FHRE
cout <<PG.empty() <<endl;

IE 785 RyZ2 Flllo]{Hitrue

cout <<PGsize() << endl;

a2 25 H N

PG.clear();
&2 BB HR

miko[1]=PG(5," Sona");
miko[2]=PG(4,"Janna");
miko[3]=PG(5,"Morgana");
miko[4]=PG(3," Tristina");

/!
int main()

{

sort(miko+1,miko+5,cp);

for(int i=1;i<=4;i++)cout<<miko[i].num<<" "<<miko[i].id<<endl;

}

/Enum—f FIEEEd iy SUIEST S ST N TE AT

/1S A ELE U/ N RHIE AT E
}

Stack:

#include<iostream>
#include<stack>
using namespace std;
int main()

{

mntt;

stack<int>PG; //F 4
PG.push(123);
PG.push(456),

PG.pop(); /s tackijiii T 22
}

cout << PG.top() <<endl; // stackgijii T2

Priority Queue:

#include<iostream>
#include<queue>
using namespace std;
struct cp

{

bool operator()(int &a,int &b)
{

return a<b ;

AR BT E FEcompare
}
IS

int main()

{

priority _queue<int,vector<int>,cp> PG;
PG.push(2);

PG.push(5);

PG.push(3);

PG.push(1);

PG.push(4);

while(!PG.empty())
{

cout << PG.top() <<endl;
PGpop();
}

}



Map:

#include<iostream>

#include<map>

using namespace std;

int main()

{

map<string,int>PG;
map<string,int>:iterator iter; /5[] 7T Z Y F5 1=

PG"Eruru"]=1;
PG["Fate. T.H"]=2;
PG["Shamaru"] = 3;
1L E 5 =R

cout << P(["Fate.T.H"] << end],

ITRUS R 705

MBS T/ 2 BB RN A & B T
AT Foffil A5 " Fate" R{FFE
//Himapgridi A" Fate" j5 I}

iter = PG.find("Fate.T.H");
cout << iter->first <<" " << iter->second << end],

/RS EREEER T 04

if(PG.find("Eruru")=PG.end())cout<<"Not exist";

IR EFE

for(iter=PG.begin(); iter!'=PG.end(); ++iter)

cout << iter->first << " " << jter->second << end],;
/}/ RS map ERE T

system("pause");

}

GCD:

Verl:

#include<iostream>

using namespace std;

int gcd(int a,int b)

{

while( (a%=b) && (b%=a));
return a+b;

}

int main()

{

int a,b;

while(cin >>a >>Db)cout << gcd(a,b) << endl;

}

Ver2:

#include<iostream>

using namespace std;

int main()

{

int a,b;
while(cin>>a>>b)cout<<__gcd(a,b)<<endl;

}

Set:

#include<iostream>

#include<set>

using namespace std;

int main()

{

set<int> PG,

set<int>:iterator iter; // $5 5] 7T Z YIS

PG.insert(123);
PG.insert(456);

I

if(PG.find(456)=PG.end())cout<<"Not found";
Ig&TE

PG.erase(PG.find(456));
LEZ v

}

Floyd—Warshall:

#include < iostream >
using namespace std;
int n;

int map[50] [50];

int backtrace[50] [50];

void re(int i, int j)

{
int k = backtrace[i][j];
if (k) return;
re(i, k);
cout << " => " << k ;
re(k, J);

}

int main ()

{

n = 10;
for (int i=1; i<=n; i++)
for (int j=1;

String:

#include<string>

#include<iostream>

using namespace std;

int main()

{

string q="Sona Janna Morgana Tristina";

cout << q.find("Janna") <<endl,

cout << (q.find("Katarina" }==string::npos) << end],
I/find: 5 5 FIolindex 54

/1 Rl[El{#string :npos (—{E#E%)

cout << q.erase(5,4) <<endl;

11 EindexSEEA IR (BT

cout << q.insert(5,"Jann") << endl;

// Eindex5$# AJann

cout << q.substr(0,4)<<endl;

1/ indexOHY H B e 4y 5 o

cout << q.replace(q.find("Tristina"),8," Sona") << endl;

1/ veplace(fir ik M- RE 7 ER)
s ek s e ks e ks sk ke ko ek ks s ke ko s ekl ke ko s ek ok s ke o

s R
5

1

Sona a Morgana Tristina

Sona Janna Morgana Tristina

Sona

Sona Janna Morgana Sona
******************************************/

}

j<=n; Jj++)

map[1] [§]1=999999999;

for (int k=1; k<=n; k++)

for (int i=1; i<=n; i++)
for (int j=1; j<=n;

if (map[i] [k]
{
map[i][J]

backtrace[i] []]

}

cout << " 3FISHURABSEE: "

cout << "3";
re(3,5);
cout << " => 5" << endl;

cout << "FE3FISHYRAIR TR

map [1] [k]

j+4)
+ map[k] []]

< map(i][j])

+ map (k] [J];
= k;

: " << map[3][5] << endl;
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T3 stringstream(i i FAVfEE)

#include < iostream >
#include < sstream >
//%#8include sstream
using namespace std;
int main ()
{
int gmax,q[101],m;
//amaxt A VFIERE HE AN
cin>>gmax;
cin.ignore();
//ignoregr Bkia F i —17IE » AR anax G i T
string str_tmp;
while (gmax--)
{
m=0;
getline(cin,str_tmp);

//fein kb Elstr_tmp

istringstream cin v2(str_tmp);
/I str_tmpgTrig A58 BRET
while (cin v2>>qg[++m])
{

cout<<"read " << g[m] << endl;

}
/T AR e in_v2 g fECin{iip]
}

MST Prim:

int w(S1091;  // — MR

int d[91; /7 R EAMSTEIE & B -
int parent[9]; // 4284 {EBEEMST <8 S
bool visit(9l; // {E{HBRERROAMST P

void prim()
{
for
for

(int 1=0; 1<9; i++)
(int 1=0; 1i<9; i++)

visit([i] = false;

d[i] = 1e9;

d[o] = 0;
parent[0] =

for
{

(int 1=0; 1<9; i++)

int a = -1, b = -1, min = 1le9;

for (int j=0; j<9; J++)
if (!visit([j] && d[Jj]

{

< min)
a=73; SLHREE—RE
min = d[j];

}

if (a == -1) break; // HjCeLiHEBIMSTE 5
visit[a] = true;

for (b=0; b<9; b++)
// u‘FEﬁiDijkstra's AlgorithmfigsR[E

if  (!visit[b] && wlal[b] < d[b])
{
d[b] = wlal[bl; // EEHER » FEEMREST -

parent [b] = a;

FAEREI A ek

cin.ignore () ;

i B RS T RIBR I EOR £ 5

cin.peek();

FEBRR T—EF 7T ERgRF TRk

EpIHR
MR AERabC

string t;
char c=cin.peek();
cout << ¢ << endl;
cin >> t;
cout << t << endl;

Eafei gl
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Union and Find:

#include < iostream >
#define UNION_MAX 30000
#include < map >

using namespace std;
class Unionf{

public:

/1 ET D BEEAT AT BB TR - ISR DS TR R B -
0;

}i

int src[UNION MAX+1];
/AR SRR %
int m;
2% 7NN
Union(int q) //int g {fZLsetr A\
{
m = q;
for (int i = 1; i <= m; i++) {src[i] =
/10 AR Ry Likskroot
}
int find(int q)
{

if (srclql -1) return g;
/TR R - MR E ORISR
int t=qg;

while (src[t] !=
src[qgl=t;
/AR R AR A EER D T A R B

return t;

srct];}

}
void combine (int a,int b)
{

a = find(a); b = find(b);//43RHF]a biyETE
if (a == b)return ;
else src[bl=a;
/TSR A OE SRR AR

}

int main()

{

int n,m,gmax;
cin >> gmax;
while (gmax--)
{
cin >> n >> m;
Union PG(n);
int a,b;
for(int 1 = 1; i <=

{

m; i++)

cin >> a >> b;
PG.combine (a,b) ;
}
// L R10608 BEHEGIIE ABD IR B GEED
/TEETARANMT Sy RIRFERIS T B SRR ES
/1 O TRV RIE 08 A BE rgcodefsb 1)




